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AM—I f PART—I
=T s wE e B
CHILD DEVELOPMENT AND TEACHING METHOD

1. 7H {8 i -u1 g a9 7t 87
1y e w - Bee—dteew

(2} ded w1 R e e
Hlo E'Enfﬁ-.'-’rr

(3 == = T e —tmm
Hhad w1 T Fraa—em

2. 70 4 T 7w ‘gaee % e # g
Bl BY

(1] 3R UE

(4) gad
;ﬁ"i 3. IFET F aamr w =ATEe ¥ fafem w1

o FREA BT
{4} =

ol F
[21 *;m

4. " e ufm &1 S
ﬁnﬁﬁmuﬁ:’mh”ﬂ%ﬂﬂ'ﬁ

A1) I T
(2) FHEAH
(3) e F
A W E
s. ‘figm i s ﬁﬁﬁiﬁ‘:’ﬁﬁﬁmm
& gy o
(1) =FEEET

m

1. Which of the tollorwing paire 1% not truc?

{1} Stimulus-response  theory  of

leaming—Tharndike

(2} Operant conditioning theory of
learning—B, F. Skinner

43] Classical theory of lcaming—Pavloy
4] Halistic theory of learning—Hull

2. Whoee name is associated with Father
of the Eugenics?

@r Crow and Crow
[2) Galton
(3] Roes

J_ED Woodwarth

3. Who described different
personality bassd on glands?

[1} Eretschmaer
(2] Jung
E] Cannon

,@- Spranger

4. "Creativity i3 a8 mental process io
express the origmal outcomes." This
statement is given by

(1) Caole and Bruce
(2) Drevahal 2
(3} Dehan

(4) Crow and Crow

types of

V-§+ The tendency of 'Feeling of Revolt' is
concerned with which of the following

f-'ll‘n apesr
{1} Childhood
{2} Infancy
(3) Early adolescence

) Middle adolescetice
-
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6, T i aE HE, =E HET
AT g w6
(1] R =
H)g{?.'tm'mml&
13y
|4 SFEEH
7. i wiea P 1 0 R
(1) Tl A x TRl
(2] AT A
Yt g
G, FTRER 3G
\/E) e i ® 100
(4) HFATE S + AHEE T

Alzrn # =08

8 dmm ¥ WE T 93 F Fmm owm yfie
e Bed

(1] R
2] faeE

w?ﬂ T {Taﬁ
B v -4
o, s s ST T T AR A
(] 22
(2 23
[ 24
3 1) =T T #
10, STy FgaeuA fisr 1 wfrE
[1y #a
(2] wilEEFT
{34 BT A
| fEEma T
#ﬁtﬁﬂﬁﬂﬁﬂﬁﬂﬁﬁﬁﬁ? :
(1) s = R : ~
(2} e = frd
(3) . =ires w Tom
G tm o

6. The perind of learning, where no

Improvement in performance 18 made,
is called

(11 learning curve

12} platean of learning
{3 memory

[4) attention

7. The lorinula for calculating [0} is
(1] Mental age » Chronological age
(2} Chronglogical age

Mental ape

= 100

» Mental age
,..-H Chronological ape #

4 Chronological age + Mental age

. Who has pfupnund&d the law of trial and
error of learning?
{1} Kohler
2] Pavlow
(3) Thorndike
(4] Geatalt

‘In a wnormal #vgote, the number of
chromosomes in pair is

ny 22 Cylante

3} 24
(%) HNonec of the above

10. Operant  condiboning
propaunded by

{1) Hull

theory is

[2) Thorndike
(3] Hegarty
(4} Skinner

11. Kohler is associated with which of the
following?
(1} Theory of motivation
2} Theory of development
3] Theory of personality
(4] Theory of leamming

| PT.O.
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12.?%mmﬁnmtuﬁwﬂmfm
;
wﬂﬂ] HHEET
(3) T
4 o
13, fiem W wAHF Tem ThE w1 owEm e A
U s o e TR e R
(L1 HHe
(2) IHE
A e
(3 =T W
14. TeeA 7= 8 4 fegd w=Em 17
1) s i
A T g
(3) smenirs ghe
(4 W
15, Fm =i ¥ @ fim 87
| et 3 o, s e
Ei%ﬂf e (2] woH sEEE = R = '
) mrEe
16, T TR s T R
Wiy TH
2] g
(3) I
@) o
\7. TF W, W GEeS  SE WeE
2T T HE T E | T8 =
A Efir SafepTa =R
g 5 it s
(3 FamieE s =
4y s oft aaftrm s T

# <

12, TFluid tmozajc meodel of intelligence was
proposed by

(1) Cattell

[2) Thorndike
3] Vernon

(4] Bkinner

13. Brainstorming model of 1|=.a|:hin_g in used
to improve which of the following?

(1] Understanding
[2) Application

(3} Creativity

4] Problem sohing

14. Goleman is associated with which of the
following?

(1] Social intellipance

(2] Emorional intelligence

[3) Spirilual intelligence

[4} General Er]_ﬁ]]:ignnr::
15. Find the odd one ‘@ut.

(1] . Theory of learning to learn

(2) Theory of identical elements

[3) Drive reduction theory

[4} Theory of peneralizalion

L}ﬁi The lowest level of cognitive achievement
is

{1] knowledge
- (2] undersianding
(3] applicalion

j) analysis

' boy who can rde a cycle is goitg to
drive &8 motorbike, This is an example of

A1) herizontal transfer of learning
(2) westical transfer of learning
(3] bilateral transfer of learning
(4] No transfer of lcarning
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. P A 8 wE-a Sy & T
1:!.%? |1 T T T

11y o 5
Wﬂ]ﬁﬂfﬂaﬁlﬁ“ﬂﬂ
3} s =
(4} FF = Hm
19. "wfm, #gqE R WA % oy
mﬁnﬁﬂﬁﬁ%l”'ﬂ%mmaﬂiﬁmﬁm
T § )
Wi T T
(2] 1A 2R fifeene
(3] TR
4] FH4F
20. HAnE-fa gliam’ o
(1) =&
(2] TR = SHE w
Ler dfa
4) 7w 4 8 =d 7
21. e =i vd afede) wfves = i
o o 37 s
(1} TraE
2 A e
wp'r =
{4 e
22, T F WO BEE F aTET AR
FRF T
(1) @i &=
3) wifwT
[4) T T

23. 71 & F F-w1 e feEm = T T4W
T BF

1} s e & v 1 A
2) it fwm = A a

N g Tamwma e
N2 T o i faw @ T
T

B

Paper-I/B

18.

19.

20.

1.

22.

23.

Which of the folloms i
of plateau of ]:;Emj:lnéla

not the cause
(1] Limit of motivatiag

(2] Non-cooperation of schag]

(3] Physiolopical lingg

(4] Limit of knowledge

‘Learning i the modification  of

behaviour  through  experience  and
traming.” This statement was given by

(1} Gates and others

(2} Morgat and Gilliland
13} Skinmer

(4} Cronbach

Stanford-Binel Test' measurcs
{1} personality

2} rmerding efficiency

[3)  intelligence

[4) Mome of the abowve

&

Who has clagsified introvert persocnality
and extrovert perscnality?

(1] Freud
(2] Jung
(3] Munn
(4]  Allport

The factors affecting the
develapment of children are

gocial

(1} economic elements

{2} social-covironmental elamerts
[ physical elements

4 Thereditary elements

Which of the following iz a primary law
of phyvaical developiment?

(1] Law of difference from mental
development

i2} Law of irregular development
{3} Law of rapid growth

{4) Law of rclation from imagination
and ecmotional development

[ BTG
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@?dﬁ“hﬁ“f;r T fam = fie
(3) TR TRy 7 g
. |4 TEE aREEE e
25, fEEn F oy TER e s T3
wiveard wae Bt #1798 waw P R BT
(1) W
FECIET
3y ey
4% = A B
26. 49 WgiE| #t dew vEw ¥ fegd wfiwa
T BY
(1) 3=
1 (B
(3} widzns
[4) el
27, ‘T Tl e AT U e TS 6
gt SEYH B T8 wUE "
= Fl
(2] TG
3} HAH
(4) TEFTE
28, fr= i 3 F-m e F e Fee 1§ i
T 27
(1) T i e
(2] maﬂﬁaﬂﬁm
© (3]G - e
X{Wmﬁw T=al F T = A
af &
“‘éﬁ:ﬂi%ﬁﬁmqﬂmuﬁmﬁam
1
~A2) HTOT T T T
(31 T 2 e
30. s & feere firgrea 7 S e

(1)

a2k
{3 A

4

Paper-1/B

24.

25.

2a.

27.

28,

29.

30.

: {2}, Specarman "=

{3} Vernon R

Which of the following ia rot the theory
of development?

(1] Theory of conditioned reflex

(<] Theory of continucus growth

(3] Theory of interrelation

(4] Theory of uniform patlern
‘Development results in new

characteristics and new ahilities.” This
staterment is given by

[1] Gesel]
[2) Hurlock
{3) Meredith i

{4} TDouglas and Holland

Instincts are classificd in fourteen types
by

(1] Drever

(2] McDougail

(3] Thorndike

4 Woodworth

“prtepition  is  Lhe concentraton of
conscioueness upon one object -rathtfr
than upon another.” This siatement 13
given by

{1} Dumville

{2} Ross

{3} Munn

{4 McDougall .- . .
Which is ot included in primagy Jaw of
learning? Bf s

{1} Law of rcadiness : i

{2} Law of exercise

(3} Law of multiple responas

{4] Law of effect

Which test is propounded by Dr. 8.
Jalota in Hindi for the children of 12 to
16 years?

{1} HNon-verbal intelligence teost

{2} General mental ability teat

(3) Army alpha test '

|4} Picture drawing test

Who propounded  the  two-factor
theory of intelligence?

{1} Thorndike

(4] Stern

i, e
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HTT—II / PART—II

A1 (&) / Language-I (HINDI)

Ty (wew de 31-35) : R
Fresfiae ) 3 98 e i) W R

Alfem 8 Jowe 7 A1 A T

O EER WA uEA ﬂ|wﬁm
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(2y fim
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(1) Fjr=
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wr—IId / PART—III

(%)

a1 (#TF1) / Language-II (ENGLISH)

Candidates should answer the guegtions from the following part only if they have

opted for ENGLISH as LANGUAGE-II

6. ive

61. Complete the following sentence with
correct conjunction |
— he had not paid his bill, his
electricity was cut off,

(1) But
(2] Either

<13} Unless

N .

{ﬂ Fhrﬁ'iﬂ» thE Trect figure of speech;in
oo ;f]‘l& follo gentence |

] Death lays his icy hand on kings.

_I'.I] M'Eluphnr ECEY

.-,FE] Perzonification W{hg#tzﬁﬁy

{3] Apostrophe & L <
4] Simile oy A
63. The study of population is known as
{1 Ecology
12) Pnstrurf-:nm:r
‘13} Demography

p“ﬁ_#} Genealogy
the mecaning of the [following
proverh :
A bird in hand lE-WDl‘l'htl.mm
a bush '
(1] To ::atch twio b:rda with Fyour hauid:a
(2] To be dissatisfied with ‘what you
have
(3} It is better to be satisfied with what
= you have than to try to get what is
nol yours
To trap birds in bushes

(4]
@ , Which of the following sounds is not
asgociated with the sound of a bell?

/

‘Faper-lf B

* {1} Chumne
{2} Jingie
{3} Ring

,i4] Dang -

!

10

&8, Fill in the bhlank
preposition
Are vou morTy
done?
(1) with
for

oy

DWET

out the correct synonym of the

F

lowing word - Ly

what you have

} To add to their troubles the servant
TEI BWHY. ' ! '
(2] Having no money with me, I could
not give the begpar anything,
o [3) I loved him becaudse- he was my
= friend.
(4] The servant ran away and added
to their tronblos.
the most appropriate preposition
plete the following sentenee :
Whg.r are yau a]wa.}fﬁ BO suspicmuu
_me? T

o {1} to

S8

A
70. Choose  the cormect  allternatve 1o
v complete the following senténce -
The Headmaster __ to speak to
you.
#a(l] wants
(2 = wanting
{3) was wanting
{4} None of the above

Scanned by CamScanner
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Directions : Read the gIVen passage carenyy
and answer the questians (Question gs,
71 to 75 that follew by selecting the minst
appropriate option.

pnlarctica is an &y cOntinent in the Sputn
Pole, Tt iz covered hy permanently  frogen
ground, is surrounded By water and is gpout
15 times lomger than the United Srages,
The waorld™s larpesl desert iz in Aterotica.
08% of the land iz covered with a cantinental
iee Bheet; the  remaining 2% of land s
barren rock, Antarctica has about 879 of the
waorld’s  ice. The  Bouth  Pole is ke
coldest, windicat and driest place on Earth,
The coldest tompeorature over recorded on
Earth was at the South Pole; it reached as
low ms 1286 °F or —88:0 °C. On an averapge
most of the Antarctica pets iess than 2 inches
of snow cach wear., Although  sclentific
Cexpeditichs  visit Antarctica, there are no
permanent humen residenis, This 8 beeause
of the extreme= weather, which
freezing temperalure, strong winds and
hlizzards. There are about 4000 seasonal
visitors to Antarctica. Antarctica hasn®. always
been located at the Soulh Pole. Tt has drifted,

includes

like the other continents and has ranged

from the Eguator during the Cambrian periad,
about 500 million vears ago to the South Pole.
Duting the time of the dinosaurs, Antarctica
was more temperate and housed dinosaurs
and many other life-forms. Wow there is very
little indigenons life.

T1. The word ‘icy' in the passage is afan

(1] noun

A2 adiective

(3] adverb

(%) homonym of ‘ice’

Paper-1/B

11

T2, The “’DIE!{__,‘I‘]ESE.'I'I_' in the passape ia a

o~

Ll}_/ un

L

(2] pronoun
3] werh

{4} werbal

T3. The word sindicat' in the passage (s a
(1) second form of verb
" (2) superlative form of adjective
(%) superlative form of adverb

4] positive form of noun

74, Has Antarctica always been fixed in
the Sounth Pole?

(1] Yes
2 No
[3}) May be

4] Net given in thc passage

75. Who are the earliest known inhabitants
of Antarctica?

(1) American scientiats
(2] Indian scientiats
A3} Dinnﬂaﬁm
{4} It has slways been a desert

[ P.T.O.
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Directions : Read the given passsge carefully
and answer the guestions [Question Nos.
76 to BOY that follow by selecting the most
appropriate option.

The first thinz which a scholar zhonld bear
in mind iz that a book ought net to be read
for mere amusement. Half-educaled persons
regd for amusement, and are oot to be blamed
for it they are incapable of apprecialing the
deeper gqualities that belong to a really great
literature. But a young man who has passed
through a course of University training should
discipling himself at an esrly dav never to
read for mere amusement. And once the habit
of discipline has been formed, he will find
it impossible to read for mere amusement,
He will then impatiently throw down any honic
from which he cannot obtain intellectual food,
any book which does not make an appead
to the higher emolistis and 1o his intellect,
But on the other, the habit of reading
for amuscment becomes with thousends of
people exactly the same kind of hahit a8
wine-drinking or opium-smeking; it is like
a narcote, something that helps to pass the
time, =zomething that keeps up a perpotual
conditos.  of dreaming, something  that
eventually results in destroving all capecity
for thought, giving exercise only o the surface
parts of the mind and leaving the deeper
apringz of feelings and the higher facultiea of

percepien unemplayed.

&, The writer believes that hall-educated
persons are not able to

(1) enjoy wine-drinking

{2} enjoy dreaming

(3] think properly

appreciate  hidden qualities  of

+ 14 : :
* = pdmirable literature

Fapﬂ:‘-‘” B

12

@‘f ward ‘narcobc’ in the passage
nmeans

411} great literature

@] intoxicant

'@ cheap books

=« 14] inlellectual exercise
3

TE. The phrase ‘the higher facultics’ in the
passagc mecans

[1] different departments in  the
University
(2} ditferent ways of enjoying things
{3] mental powers of a high order far
*  understanding preat literature
(4} superficiel] part of the mind

Lj?g' The word ‘eventually” in the passapge
Incana

@ affer some time

,—-@ at last .

(3} mever *

{4} initially <

The word ‘unemploved’ in the passage

\ﬁﬂ.

MEADNS

(1) jobless

(2] in search of employment
(3] not working

{4) urused

-
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. The sentence,

B3. Which of

- I

81, Which of the following iy 4 Enrmct

expression?

(1] As cheerhul as a lark

[2] As busy as & bat
(3] As cunning as a dog

(4] As happy as a donkey

lIIIh'i.E 'i'.:: ﬂ'_H: hﬂugt :in

which T was bom”, is _‘@

[2] ;::_ cnmpound ‘IE‘TI‘IT‘I:'I-E.-E."___..-"

él_ja complex sentonoe

4 a conTRound- :nmplr::: Benten e

(1) = simple senteneoc

the
a proeposition?

Beyvond
[2)  And

[ Yet

(4] Maw

following words  is

(84, Which of the following words is an

adwerh?

ApEce -
[2) Face o
(3 Meek &

"1

@ v

(4] Fury -

85. Join the following sentences to make

a simple sentence
The coffce isnt loo El’r-t"}ﬂEi It won't
keep uz awake,

1] The coffee isn't too strong to leep
us awakoe.

(2] The voffee isnt too SiTODE and
will not keep us awake.

i3] The coffee jsnt too strong S0 it
won’t keep 118 awake.

[4) The coffee isn't too stromg 0 as
to keep us awalke,

Paper-1/B

13

BY. Give

a0. Fill

86, Fillin the blank with suitable profioun

My =son and my daughter are very
fond of

11} herself

- i2)
(3} themselves
(4] himsgelf

each other

one word for ‘one who hates

priatboingd’
1) WNarist
(2] DFescist

~+J3) Misanthrope

(4] Sadisl

88. Transform the following scntence into

a gimple senlencé ending with “book’
L&t the book be givern.

(1) Give me the hook.

2] Give the book.

(3] Please transfer the book.
[4) Can you give the honk?

B8O, Transform the following sentence into

a direct sentence :
I asked Sheela if T might know
her father.

,-!1:' I said to Sheela, "May I know your

: father?"

(2] T told Bheela, "Ma} I knew vour
father?"

(3] 1 asked Sheela, “Can T know your
farher?"

4] I questioned Sheela, “Will T know
( q
yvour father®

in the blank 1o complete the

following senfefics !
The Ministere arc reeponsible
the Chicf Minister of their State for
their work. :

{1} for
{2} to
{3} of
{4} towards

| BT.O,
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am—III / PART—III
Am-11 (§&Fa) / Language-II (SANSKRIT)

whETeR PR wm % W & I e A 3 AR TR oI e e S

o ;T e ¥ T WO He 61 0 63 | 66. ‘P dewn iR w2

TF W W o T e

THOEE Faen, e Ay e TeT—
“rhfy! T ST TEEA | STRTen A FrEiE
aredEg)” 3fh) e wwEd sERE—WR uvg: AW
fim:"" 3 EvEw =y e e w=n Al
Frwggl T e o et g e i
Wity FEET R awsli wdd) e
R C G S - Rt N T [ - A = - B
3 =g T EEE T e, = s i
oaEg, TR | AR we-TEe Hed: e
HREAE Hag |

61, fiemeE s=y: &:?
[1] +IF4:
J—]’ ==!TI'IFT;
(3) ¥
{4 T

62, TEETE T WH: TegT ¢
(1) i
(2) =T
A TR
(4 Fm

- §3. TN Heg: 9Eu TRers W
(1) =
mjﬁ@ﬁﬂ

wel- =

&4, T 1w 8
(1) T = e
(2] FHTE] =1 e =

(3),, S
o At

paper-1/B

18

(1) +gedfiEm: =

{2y "l =gy == =
q\ﬂﬁﬂﬁm:?ﬂ

(4) femait = w1

66. 9 59 1 FYF TEER B
(1) =
of ™
{3) ™
(4} =

67. ‘ga vy @ T WER wE T g
1) T

S A
(3) =
(4) af:

68. ‘wrw: TE™ B
(1) FEERE
{2) e
Eymmﬁm
(4) WFiTTE

69, ‘5’ Fe =3
i TAREA
2y FALEH
(3) AIFMTH
(4 LA E
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70, ‘= ug o T &Y
(1) venfeeT
[2) arETiET
13y wEr
JAl EE

Erg

71, 0 "R W { W dEE § sy
#m

e HE, AT A=

q_fji'} T ST TR
(3] HE TR A
(4] FEAITA: S T

72. "admfa’ & A #
(1) I

&) T
{3 =6

(4) THE

73, T G A
(1
2y =
s
(4]

74, =8 T=-FEE #
(1) A, T

J2y7 A, T, T
(3) e, g, 3

4] W, HE, T8

19

Faper1/B

76, ‘TN i we v T

1] mﬂﬁr
(2] S
(3) THRETE:

76, = W TgE WEA T A

(1) 1+ 7%
A2 AT
{3) o +TH
[4) T+ T

77, S A0 A
(1] MLEHEE
(2) (A FI)
oy (431
ga) Fawl Aw SRS

78, ‘a2’ TR T A R
W AT EY AL
(2) ®¥IZ
(3} T FMELD
4 #3IZ

Ta, ‘Elﬂrrlﬁ::ﬁ'ﬂ'%ﬁ Hﬁ-’l’??
(1) = H
A T EE
(3) e wka
(4] =eE Akl

80, ey ¥ THW E
M T
(2) =
{3) =gl
4 E=
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a1. 'fiy’ 91 T WA Ch T
1) &R
2] % i
ﬁ] # =
(4] & T
g2, i § 2 F daw = 31
(1) =
3
(3 =
(4] H

g3, il =d & w9 wg v 9 ad
{1) oI
21 T
(3) g
(4) Y
g4, "gi degm e wil ¥ g wepd A
AT F4l et .
(1) T FEFd
2] Y FEFA T,
() R wER TR
[4) T R T
g5, ‘AR § e e S 4
(1] 15 (F5E)
18 (%1213}
(3 20 ()
(4) 16 (W)
g6, &l T B e B
{1 =
(2] 71

e R
4] I

i

Paper-1fB

20

g7, ST T = AT
(1) =mET
j] aafirsft

(3) TEgET:
[4] LG Lk

Bg. FF § =M *agﬁ*ﬁma‘mi%m' %_rr_rfrﬂ

T B

J}’I THET
(2) HEMTE
[3), FEMEIE

(4] e,

Bg.ﬁﬁ*uﬁxﬂmt
(1) TR
21 T
(3) T
(4 TEwET

g0, ve-AEE # OB owR oH o mm oS
“Rewdravs| gl ar B |
(1) wnfa
(2

[3) TRTEH
rod] e

gl S
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L
AN—IV ./ PART—IV | ﬁ

T/ MATHEMATICS

gl.ﬁ?@ﬁmﬁlﬂﬁaqm@lmarﬁﬁ%
M =0 = AR '
(2) 39 I HraE
(3] =9 o W Teh i
@ 1 F RS g

92, mwmmﬁmmﬁa‘rﬁnﬁgw

wthI’J._-I'I?FFEE'U
(1) frEnld=s =) o= % v
At et s ey O AR e

A ﬁmﬂmﬂﬁlﬂjﬁﬁﬁ:m*ﬁr

qsyﬁmwﬁﬁrmmaﬂmmﬁﬁmﬂ.__

Hi H T
| Tamidat =1 nitely ol s a9
T T |
93, = FIYE FEl F1 s 40° 1 26w R
(1) - BS=, 35 (2) TOE, 30°
\_[3h 25°, &5° (4] 70°, 110°
94, 121012 1 12 H 90 & 70 99Ee ¢
(1) O 2} 2 S

(3 3 i 4
o5, Teh formeff & = 3 & wn sxig w0
(1) TIETEE HHE
(z) B wE = ) g
(3 Torere <t g7 e
J:}] aﬁﬂmﬂﬁmﬂ‘ﬂmq@ﬁ
wg

i

@ The height of a rectangle in a histogram
(3] upper limit of the class
(1} Allow students to develop their own
(3] Create situations for exploration
angles is 50° The angles ars
remainder is
asseased in a student?
without
Capacity to listen to teacher *

shiows
1) frequency of the class @
— 1 lower limit of the class
-’:?/In a constructivist claasroom, teachers
etrategies tor sohe guestions
{2} Ask sludenis to rotc memorize
(1) Alow students  to  construet
= meanings for mathematical tools
[1) 655 352 {2) 70°, 30"
[3) 25°, B5° 13 70°, 110¥
(1 o 2y 2
~, [3) 3 o) 4
['_@i:l Mathematical communication =
[2) Capacity to memorize
Attitade of not asking guestions
evern I the concept i3  not

(2] width of the class
should not do which of the following?
formulae
The dilference of two complementary
94, When 121012 is divided by 12, the
-~
@wmm of the following should be
understanding ¥
tg‘”fll
understood Lo

5. AftRdA ST =y WE ] S e B 96, The difference between the masimum
and mintmum obecrvations is called
(1] illglil (1} frequency
(2) =i AT (2} class size
\j}i’/ TR, {3} range .
(M) T (4} mean
T% T % T T / S8PACE FOR ROUGH WORK
Paper-1/B 2 [ PT.0.
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o7, TER-wil AN T B

-2 2} 3
(3 5 Y T

93, WH@@EHE 04 T U R, T3
T L AT

= (1 8 Ad) 12
3 1p 4 32
99. 7+3/10 F 90 8
(1) [+&+1) 2) (V343
3 (W2 +5) 4 (2++5]
100, TR # wmel e S A
o= 49 |
(1) =e ge R =
¢ TITEA
13} T 4
4} T _
101. B sien & so% ® 2 A AW 36§ 0T
L
A1l 100 2] 74
"3 80 4] 90
102, 1 &, TH
(1) wfE E= :
(3) ST weE
[4) :
g b a-t +c
r14::3.T-l‘i'a5=4=EE‘1.EFr = EFI'-FH’E‘I;
(1) 2 2y 7
By e . W=

4 !

104, (378 »236x459%312) & T A ?,.?l.‘;

597 The smallest prime numhber 18

-{1] 2 2y 4
3 5 (4) 7
BE If 24 is 2 afl L’e of a number; then what
will be & nf T,hat pumber?
(1 8 wtz) 12
3 1D (4] 32
LPC The SifiaTe root of 'I"+2-.."1_E is
(1] B+1) 2 (V32
_LE] {2 ++3) i (24+5)
x !a[ad Lo
The most important persen, T
the method of Analysis of Variance' in
Statistics, was A
1y R. A. Fisher
{2} tauas
@3 Laplace

(4] Newlon
yﬁ if th part of 60% of a number ia 36,
then that number is

A1) 100 (2) .75
(3 &0 (4] 90
. T.i% afan

{1} ratiomal fumber
{2} irrafional oumber
|3] prime number

{4] integer
1 1:',.;_=E then the vahieof 21212 1
,,h-: ] c
(2) 7
3 2 ). ——
o 7
104 ‘fhe digit of unit place in

w1 HE T .[ET_E::{HE%@H#EE’HEI‘E] will be
(1 & @ = e . {2 B
(3 2 W (3 2 4 4
1w wrd i T¥ TTE / SPACE FOR ROUGH WORK
Paper-1/B 22
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mEé’lnﬁﬁﬁaw

wh
-
Lt

© B TN | 1054 The HCF and LOM of
HAGE I 12 | . ol ol barn numhbers aATe
=1 4ATRe 60 3, at ::ﬁm ki 1S 12 and 72 reapectively, If the sum of
T TH E gt these numbers is 60, then one of the, ,
(1} 12 {2p 24 numbers will be .5_“‘.{"3:'
(3] &0 Ty 7o 1 12y - e 24 3
. % {3 B0 (4] T2
106. T Tied 7 =rhaEs o ; i £
: : fere : (1] teacher wrote on the hlackhoard
294 3T Hifer | Find 20x4.
R Tarnedf 3 ! s W EH 27 x4 A student copied it on her notebook
TR AT e 2 AIAW 7 Ty - as 27+4 and solved it as follows :
2 2
27 27
e 2 h ok
108 LERS:
fiv= T The teacher should
(1] T ) o st 3 T » liag 5 (1) give O mark to the student
3 }:J Ask her to he attentive in the class
= T & w1 d ek W = “—" and give 0 mark
O HF & =i . (3] give 2 marks out of 5 marks to the
(3) I Freneff =it s = A A 0w W student
1 |4} t to ascertain the reason of
o wrongly copying the quesation by the
~Af] T FWO AR W OGEE w=em A R student and give her full 5 marks
foreneff 3 T = e W A T 96 for the correct process
T A F TG 5 A A Eljf’xf the cost price of an article is 3 of its
107. 9% Ffrdl 99 1 F3-0r0 30 - T selling price, then the profit or loss
3 51 ] IR percent ia -
el : 1) 33l% proft & 7
(1) 331w wma i e =
33l wH 2 331% loss @ wr
(3) azlus wH ! (3) 33}% loss
4 33?‘;% w4 ) a3 %% -
msﬁ:ﬂ:m?ﬁaﬂ"rﬂaﬁmaﬂﬁﬂﬁ
660 w2 B I HEE IO =i EﬁTH] E Lyﬁ The tﬂéﬂl area of four walls of 3 room is
of i S E=E 11 m 2 & ZOeht wd ol 660 m=~ and the' length is teice ita width.
If the height of the room is 11 m, then
CERTI the area of ite ceiling is ;
(1" 200 m* (2] 150 m~ L1 200 m2 2 150 m2
(3} 100 m* t4y 75 m? {31 100 m? {4} 75 m?2
mmﬁﬁ;ﬁqm / BPACE FOR ROUGH WORK
gg%?
Paper-I/B [ B.T.C.

b

el
[g-"-"_.l_,.l

L ak
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109, 4% w=7 604 6, 11 & v 7, ° &

T4 F YOI P
(1 1 2 3
(3 7 -
110, 2087 T8 % miafiE wwen iR aieEE
=iE # 47 ; '
(1] AVE
(2] e
13" HiTETE T
(4w

3 s # F == g A1 T HEn
o= TR A AR T e e S A
i BE T AR T owm Am 71 R W

111.

demd e 3 LA =54
ap ez, 8 Untheie
3 145 4 17, 1

112, 5 cm I 49 TF o9 % B wE W
ST A B A 1 em” AT T H FE
aar e, d@ 1 cm? = T = 1 = 0
¥ Fers = T F T
(1) 142 2y 27
{3) 42 \_rl'!jlr}' o4

113, f s wE H W T HFE F |

<y H pe W £, 9 R -

T AT 2 E '

(1) e 3R AT

(2) e, g R wEEE

u

®

@

{?&. Ir E-Dq-iﬁ, is divisibie by 'l_l, then' the
integer in the blank SPacs i
(1] 1 (21 3
ME T L# B |
110/ this I-taught Indian
wi the 8¢
116} e nips in the Zth century?

"/ mathematical ge
{1} Aryabhatta
() Sridharacharys
(3] Srinivasa Ramarntl]an

(4] Harish Chandra h
iz thiee

11¥, Twice the larger of W0 pumbers 15
more than five times rhe amaller ani the
sum of four tmes the larger aricl thrlcf
times the smaller 15 =1, What arc 1he

o
S

numbers? 54 =57 5
: . L i
1) 43,8  wnriA2) 11, G. @
@9 18’5 ) 171

Crl!-'l all its

, ::u_E; Ef ‘side 5 cm i8 painted s
faces. If it js sliced into 1 cmm cubes,
2 cubes will have exacty

how many 1«

4] 142 (2) - 27

ne of their faces painted?

(3] a2 (4 54

113, Which measures of central tendency” get
affected if the extreme observations on

both the ends of a data arranged in
¥ descending order are removed?

(1) Mean and median
{2} Mean, median end mode
{3} Mean and mode

- HTEy AT GETE 4t Mode and median
(4 TEer R W o . D-Ilt*;r}' :;iigi*:] ?[fh s natural number is
LL4. Sra TER T o TRE S WA 3 W 4 either 3 or 4. The number is divisible by
1 Y ?13”@ e 5 s 4 2F & Fyarhem S B ]J?IT;:S El;'lli 4. What ig the small=st such
r n ET
rl) T B W R T g 1] 333
+ (1] o2} 444
(1} 333 o 3) # @) 4444
(3) 44 [4]_ A ys. Find the sum of all the intesd
e ﬁﬁ#mﬂ maﬁﬂﬁmﬁﬂmﬁﬁql o e erior angles of
1) 450" |2 1807 (1] 430° 2y 180° ’
[3] 360° 7‘-/"‘E»«flfj- : 540“ [3] 360° {.{.:‘]_] G400
% %79 & fA¢ 9% / SPACE FOR ROUGH WORK
.a & A
=3 \ SRk R
i - LA
Paper-1/B 23 e
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116, U= W F 4 9 wEE § gm g w el
ﬂa‘r‘ﬁma’lﬂaﬁmﬁmﬁ T W
B'FfE'{TrFT-ﬂﬁ'FH]aT*ﬁlﬂ'ﬁﬂ?ﬂmtnir
=1 i) wreET = e

T 21 W

12} 25 HI=Z

(3] 30 9=

[4) 12 7

adﬁﬂﬁrxﬁmaﬁ‘uﬁ-nmmﬁ

B 3R 3 wE w®) IEWHEIPJTCdﬂtﬂ

) e w20 9 A T awa #) A s o

17 F Tl T T T E T

11y 10

2] 20FA

AT 30w

(4] 40 B

118. AASCT g % sefigd b, £ o
FR T T W R e 27

117.

A DEF &) Hutd = A ABC %1 43%0
[2) ADEF® &% =1 AABCTH EAF
{3} ADEF® ﬁﬂ%ﬂ--{iﬂdﬁﬂﬂﬂﬁi’“ﬁ

~ 3 aﬁﬂﬁﬁm—laﬁﬁﬂaﬂm

119, T g Hens WHMWW
5 T 36 ¥, T T s ey

N

i 31
- 9
B g 2

120, Tl -39 T2 % o o= mé};
TH AT A 9 ﬁﬂnmﬁaﬁﬁ%WH

I

‘:E/Iﬁ 2 of a pole is in the mud. When J y ol it is

puil]&-rj out, an 8 meters long piece of
the pole still remains in the mud. What
ia the total length of the pole?
A1) 21 meters
2y 25 meters
(3] 30 meters
(4] 12 meters
- A and B can d6 a piced of work in
12 days, B and Cin 15 days, C and A
m 20 days, How long would A take
separately to do the same work?
{1} 10 days
(2] 20 davg
A31 30 day=
{#) 40 days
0, E and Fare respectively the midpgints
of the sides of AABC Which of the
Tollowing is true?

16

Area of A DEF=Area of AABC
Area of ADEF= l Area of AABEC

(3] Area of ADEF= -5 Area of AARC
A4 Area of ADEF= :1;1'\.]1:3 of AABC

If the difference and the product of twa
aumbers are 5 and 36 r::spm:twe]y
then their reciprocals differ by

(1}
{2}

2 a1
M 5 2 =
S 4,2

J26. A two-digit number is such that the
product of its digits 15 6. If @ is added to
the number, the digits are reversed. The

o uﬁﬂ‘@aﬁ;'ﬂ@n% i number is
(1} 16 {2} 35 i i1 16 (2] 35
[F) 43 wdf) 23 (3 43 44 23
mmﬁtﬁqm { SPACE FOR ROUGH WORK
LB W@ O
é I
P, . fl""-?iﬂ . 6 ':1
-;"I-. gt ,I?"!S - ;:.. :
Paper-I/B B oo !
P f @}4_“. 25 i3 [ P.T.00.
1 &
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gr—V. / PART—V
Tatafg steaed /| ENVIRONMENTAL STUDIES

121. wia § B 1 4 Sl i T
1 TEI & A F A
(1] o F=g
W21 el g FeEm
(3] el T

(4) Td e girem
122, ‘FrEiw) TF Td wegE 8, w5 i 8
(1) Fee & (2) wam#
31" i (4) TR

123. fsgm St gl =) wwm § fam am W S
Eiil
il]jim (2} N
w3 A () oy
124. -4y &9 F TR F W JEe § wEd
==Y ‘Of 7 TO4TET B R
1] T
2] HHEE
(3) T
(4) AEIEH A AEE
128, FAHEE | gE W, W T F AR
B R
(1] THAHER o (2] EHHE

apencics

,1/?1' Which of the followiDB
3 13 primarily eoncerned :
measurement of pellution in India?
(1} Green Tribunal
A2 Central Pollution
(3] Central Water Commission

(4] Survey of India
@' Cotopazi’ is an active vu-!c@!ﬁituated

Contral Board

m
(1] Sicily (<] Hawaii
(3] Andes (1) Hﬂflﬂ‘:a
}5}3’. Tsangps river of Tiber, in India, is
known as
(1} Ganga (2] Yamuna

B Brehmaputra [(4) Indus

@. In a ford chain of graasland ecoaysiem,
|
L

the top consuUMmers aIe

{i] herbivorous @
(2] carnivorous

(3] bactcria

[4) either carnivorouws or h-:r[:ivnmua

lsf,aThe main atmospherle laver near the
eurlace u_:uf. the carth is
(1}. stratosphere | {2] troposphere
[3) mesosphere %) iomosphere

(3] A (4) TR
2§. The number of permanent members of
128. H"'F % T mﬁ Toart wupt W 27 the UN Sccurity Council i=
(1) 3 (2) 4 (1) 3 (2 4 @
Bk 5 [4) 6 _@; 5 ;48 6
127, i TEA T A § 327, Sariska National Park is situated in
(1) wEmETEd (2 TEW it (1} ‘-‘Jrlat Bengal {2) Gujarat
w3 e R (4) Fan B . {3} Rajasthan {4 . Assam
128, it 74§ =91 91 9% 9 8 o :i‘: E};::;‘if”m of energy in an
1) weAedle  JA FwE (1) ATP. A2) sunlight
{3 FHe We T2 (4} ST e To i3] DNA (4] RNA '
Paper-ifB 26
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129, "W w5 Ay &
S T
(3) =FEEa

2 A5 g
() s g
130. R T el T EEEEE

i) za wem

12) == e

{3 TERH

I ulEm ame g

131. F=7aa T AufEm uiim S o
(1} 1960 # (2) 1962 %
w3 19729 (4} 1975 ¢

132, 30 # 7,59 1wl v 3
(1) TeRTH-HEeE
(2) =
wm i
4] EREEI
133, Fry 3 % dfum @ AR 1= ®
T %1
(1)
(2) s feTen
(3) %o wHe o
_:__,l"’f] o uyo THe HTe
134, e FEl S

Ly

(3) @ R

125, s § “dem ey e fRm T
(1) 1972 # i 1973 |
(3] 1981 F (4] 1985 # _

136, ‘gt 6 TR e B
(1) sFg-wen o
(2) Tomm=m Wi &
[3) firfeem 7
L ST

i

-

(2) il A
(4) TR A

Paper-1fB

1&9. ‘AGMARK' 13 related with
1} .q_llmlil}f 2} packaging
{3) {4] production

lﬁ}rhc problem of water pollution with

Brsenic s maximuom in

PToOCCssing

(1] Uttar Pradesh
(2] Madhya Prades}/
(3] Bihar
[4) Wesl Bengal

-

B

“’E-:;;' The Wildlife Protection Act was passcd
{1)

(St
©
(3]

1Z2. The process of curd production from
milk is known as

19642
1975

1960
1974

)
()

(1} photoeynthesis
(@} distillation

J3| fermentation
[4] aterilizaton

IE}(Fmelam:ntal Duties are Hr:_lupl:g:_:l [rom
the Copstitution of which coundry?
{1] Germany .
2] United Kinpdom
(3] USA
4] U3SK

5311-. The Poleatar is i
{1} MNorth star  [2) South stdr

(3) East star (4] West star

@E, Project Tiger' was started in India in

1972 (2) 1973 @

1681 (4) 1985

IE:I.

L

(3)

136, Tha Valley of Flawera is Incated in
(1} Jammu & Kashmir
[2} Himachal Pradesh
{31 Sikkim
, 4] Uttarakhand

27 [ B.T.0.
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137, TF F9F O # gt 5 e f

T #7

{1} 305 (2} 275

3 206 4 175
1ﬂq.mﬂé?ﬂmﬁmgﬁqmaﬂf€wd%

(1] == A (2) Tt A

3p AR (4] TR A

139, TEm-genT % weEly s % e
T E W gEEd g g
(17 w[¥ =, NADP
2] MADPHS, CCI'E
|3} COg, ==
(4] ©Og, NADPH,

e e St 3 Hev § w07 T TET A7
{1) =B T o= 5 B

(2) w8 T TEE AT L

(@) =@ T == § W -l
Bt zz B9 Teoeie e ATen T

1440,

141. The Origin of Species ﬁﬁrﬁmﬁ = 3agf)

wh T

(1) =g _

A Tl

HEe

(4) g
142, ‘mtar B
e | i lf'
t () 235 i2] %32 N

1. 4 23° 3
23S (4)

143, Sty = T e FE .
(1) A war

{3) i (4] A= H

28

Paper-1/B

PEEAR
g ¥,
e &
i ||.| i
1\?7{ How many bancs are pr.:ﬁ&'rlt in an aduall
human 1:-:1:115':3'

{1} 305 (2; 275
3 206 (4] 1785

@-;'_ The Headguarters .3__r Groenpeace
International is located 1 D
(1} New York (2] Sydney
(3) Amsterdam (4] “Hagasaki

L

During light phase of phntnsﬂth:aiﬂ,
is pxidized and _ 18 reduced.

DF 7
water, MA {E
o D

)

ljr-l]. What i= ne? truc for LPG?
(1

NADFH g, CO4g
0 g, water '*""Ff_l
CO 4, NADFPII o

It is a4 clean fuel
(2} It has high calorific value
(3) It burns with blue fame

It is methane emitting

;I.;:l The Origin of Species s a work of
(1} Aristotle .
12)
(3
(4

Charles Darwin
MMendcl
Robert Hooke

. The Tropic of Capricorn is

1 1
3= s
B = {2) 23°N
1,
@ 23°8 [4) 23" g

ﬁ@_ The Head Oflice of The International
Court of Justice iz situated i

(1)
(2)

Gencva L[] The Hapye

Mew York (4]  Parig
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147. Fraiatma ﬁqﬂu-ﬁtmzﬁﬁsﬁﬁm
e TR BT

(1) e @ ™ .
~ 2] FaE (4] "I K
148, ‘T 3n afEE st
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(2} HERTE H 5y

{3) MWW
(4) T WEA E

149, S=s TEde The 4 A B
a(1) FeE A R
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e SEFEAT
1) FE TN

1850, M = e &
(1) S A
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v'{af T TR
(4y T =iEER &

Paper-1/B

144, The Constituetil Assembly adopted our
' National Anthem on

(1) 20ih January, 1930

{2) 24th January, 1950
(3) 21st May, 1949

14} 13th Ndvember, 1949

115. Where. is Pushkar Fair held?
4 2) Udeupur
4 ‘Ajmier

(1) Jaipur
* 3] Jodhpur

(1) UV-A
g euveB e
uv-C A

(4] Mone of the above
. Which of the following is ot an sbiotic
component of biosphere?

=, ' = [ w

: {Ll-] Profein ; '@ Sel

41 Thosphoras

D Fungl
]F:!-j. ‘Gir Lion Project’ is situated in
. {2) ,Mdharashtra
y [3) I:'Ftté_lr Pradesh

(4] Madhya Pradesh

S WWE stands for
[1] World Wide Fund
(2] World War Fund
13} World wildlife Fund
[4) World Watch Fund

E:}li The tiver Ganga rizses from
(1} Aravalli range
{2) Ladakh glacier
A3 Gangotri glacier
4] Milap glacier
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